PR R E R

FRL16E4AH 1H SR T4E3 A 31 HET

I IXADE

F A& B M & B (AR | BB R | AR BEEEARNIRG | ook B B
1 B PEI A 4,816 4,816 0 0 0 0 0
2 £y Al 15,816,000 15,816,000 0 0 0 0 0
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4 WAL N 0 0| 1,500,000 0 0 0 0
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9% o 0 0 0 0 0 0 0
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2 & B % 15,180,993| 15,180,993 0 0 0 0 0
3fA H & 20,000 20,000 0 0 0 0 0
41 S & 0 0 0 0 0 0 0
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(3) & B &= # W A 9,430,000 8,096,000 -1,334,000
3. # % It A 24911,000| 24,854,539 -56,461
(1) FEEHEHE SRS 1,300,000 1,462,998 162,998
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6. 5% FH 4 I A 0 0 0
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5) BAE K I ATE BB A E 0 0 0
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6. W B & I A 200,000 200,000 0| bEi
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RIS =R (B—C) 0 0 0




VR 164F EfREEIHE =
sz n"ﬁ*

I IXADES

i H TR gk BOOHE|HE UK | M -
. X & B ik & 0 0 0 | Mi-VERESHNA
2. ® A #H £ 1,100,000 1,123,998 23,998 | it (EREC AL
3.8 B &= It A 0 0 0
4.z Jn B I A 200,000 339,000 139,000
oM AN & FF (A) 1,300,000 1,462,998 162,998
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